MacAulay 1988

1) 
Dh’ith Iain an t-aran.
eat.past John the bread

 “John ate the bread.”

2) 
Chuala Iain am fuaim.
hear.past John the noise

 “John heard the noise.”

3) 
Mharbh Iain Màiri.
kill.past John Mary

 “John killed Mary.”

4) 
Rinn Iain bocsa.
make.past John box

 “John made a box.”

5) 
Dh’iarr Iain an t-aran.
ask.past John the bread

 “John asked for the bread.”
Note: AZSGP: Ungrammatical, but reported fine in MacAulay

5a) 
Dh’iarr Ian airson an t-aran
ask.past John for the bread

 “John asked for the bread.”
Note: AZSGP prefers this to (5)

6) 
Chuala Iain gun do dh’ith Màiri an t-aran.
hear.past John that eat.past Mary the bread

 “John heard that Mary ate the bread.”

Note: Clausal object/embedded clause
7) 
Dh’iarr Iain an t-aran ithe.
ask.past John the bread eat.vn

 “John asked that the bread be eaten.”

Note: Non-finite embedded clause
8) 
Is duine Iain.
cop man John

 “John is a man.”

Note: copular structure, nominal preciate
Note: AZSGP: doesn’t like copular constructions
9) 
Is duine math Iain.
cop man good John

 “John is a good man.”

Note: copular structure, nominal predicate

Note: AZSGP: doesn’t like copular constructions
10)
 Is mòr m’ eagal.
cop big my fear

 “My fear is great.”

Note: copular structure, adjectival predicate
11) 
Is leamsa an leabhar.
cop with.1s the book

 “I have the book.”

Note: copular structure, PP predicate

The book is mine

11a)
Is leamsa a tha an leabhar

Cop with.1s.emph wh-C be.pres the book


The book is mine

12) 
Is esan an duine.
cop 3sm.emph the man

 “He is the man.”

Note: An equative sentence; copular structure, note placement of predicate
13) 
Is e Iain an duine.
cop 3sm John the man

 “John is the man.”

Note: Augment (agrees with Subject)

Note: Equative

Note: Copular construction
13a)
‘S e Iain an duine


cop 3sm Iain the man


“John is the man”


Note: Augment (agrees with Subject)

Note: Equative

Note: Copular construction
Note: preferred form for AZSGP

14) 
Is i Màiri am boireannach.
cop 3sf Mary the woman

 “Mary is the woman.”

Note: Augment (agrees with subject)

Note: Equative

Note: Copular construction

Note: Dispreferred by AZSGP, but prescriptively correct.

14a)
‘S e Màiri am boireannach

cop 3sm Mary the woman

 “Mary is the woman.”

Note: Augment (does not with subject), notice reduced “ ‘s “

Note: Equative

Note: Copular construction

Note: Preferred by AZSGP, but prescriptively incorrect.

15) 
‘S e Iain a dh’ith an t-aran.
cop 3sm John wh-C eat.past the bread
 “It is John who ate the bread.”

Note: Augment (agrees with subject)

Note: complement clause
16) 
‘S e a dh’ith an t-aran Iain.
cop 3sm wh-C eat.past the bread John

 “He who ate the bread is John.”

Note: Augment (agrees with subject)

Note: complement clause

Note: AZSGP does not like this form, prefers 16a)

16a)
‘S e a dh’ith an t-aran ach Iain.

cop 3sm wh-C eat.past the bread John

“He who ate the bread is John.”

Note: Preferred form for AZSGP, Contrastive, needs ach.

17) 
‘S e Iain am fear a dh’ith an t-aran.
cop 3sm John the man wh-C eat.past the bread

 “John is the man who ate the bread.”

Note: Augment (agrees with subject)

Note: complement a noun with a relative clause
18) 
‘S e am fear a dh’ith an t-aran Iain.
cop 3sm the man wh-C eat.past the bread John

 “The man who ate the bread is John.”

Note: Augment (agrees with subject)

Note: complement a noun with a relative clause
19) 
‘S i Màiri an tè a dh’ith an t-aran.
cop 3sf Mary the woman wh-C eat.past det bread

 “Mary is the woman who ate the bread.”

Note: Augment (agrees with subject)

Note: Equative

Note: Copular construction

Note: Dispreferred by AZSGP, but prescriptively correct.

Note: complement a noun with a relative clause
19a)
‘S e Màiri an tè a dh’ith an t-aran.
cop 3sm Mary the woman wh-C eat.past det bread

 “Mary is the woman who ate the bread.”

Note: Augment (does not with subject), notice reduced “ ‘s “

Note: Equative

Note: Copular construction

Note: Preferred by AZSGP, but prescriptively incorrect.

20) 
 Bha Iain ag ithe an arain.
be.past John prog eat.vn the bread.gen

 “John was eating the bread/John was at the eating of the bread.”

Note: Progressive aspect

Note: Genitive object
Note: Freely Alternates with: Bha Iain ag ithe an t-aran, but prescriptively correct

20a) 
 Bha Iain ag ithe an t-aran.
be.past John prog eat.vn the bread
 “John was eating the bread/John was at the eating of the bread.”

Note: Progressive aspect

Note: Accusative object
Note: Freely Alternates with: Bha Iain ag ithe an arain, but this is the more common usage.

21) 
Bha Iain air an t-aran ithe.
be.past John perf the bread.dat eat.vn

 “John had eaten the bread.”

Note: perfective aspect

Note: Accusative object, object raising
22) 
 Bha Iain aig bùth an arain.
be.past John at store.dat the bread.gen

 “John was at the bread store.”

23) 
Bha Iain mòr.
be.past John big

 “John was big.”

24) 
 Rinn Iain an t-aran ithe.
do.past John the bread eat.vn

 “John ate the bread/John did the bread eat.”

Note: A surprising usage of DO with a VN (AC: but clearly a main verb do, not a dummy do) 
Note: AZSGP finds completely UNGRAMMATICAL

25) 
Dè a rinn Iain?
what wh-C do.past John

 “What did John do?

26) 
Rinn an t-aran ithe.
do.past the bread eat.vn

 “(He) ate the bread.”

Note: A surprising usage of DO with a VN (AC: but clearly a main verb do, not a dummy do) 
Note: AZSGP finds complete UNGRAMMATICAL

27) 
Dh’iarr Iain air Màiri i an t-aran ithe.
ask.past John on Mary 3sf the bread eat.vn

 “John asked Mary to eat the bread/John asked Mary the bread to eat.”

Note: PP object of verb and non-finite complement clause

Note AZSGP: Doesn’t like i (take it out)

27a) 
Dh’iarr Iain air Màiri an t-aran ithe.
ask.past John on Mary the bread eat.vn

 “John asked Mary to eat the bread/John asked Mary the bread to eat.”

Note: PP object of verb and non-finite complement clause

Note: AZSGP prefers to (27)

28) 
Thubhairt Iain ri Màiri Seumas an t-aran ithe.
tell.past John with Mary.dat James the bread eat.vn

 “John told Mary that James should eat the bread.”

Note: PP object of verb and non-finite complement clause

29) 
Thubhairt Iain ri Màiri (i) iarraidh air Seumas (e) bhith air an t-aran ithe
tell.past John with Mary.dat 3sf want.vn on James.dat 3sm be perf the bread.dat eat.vn

roimh shia uairean.

before six hours


 “John told Mary to ask James to have eaten the bread before six o’clock.”

29a) 
Dh’iarr Iain dhe Màiri faighneachd dhe Seamus a bhith air an t-aran ithe roimh shia uairean

pst’ask Iain of Mary  ask.vn of Seamus wh be perf the breat eat before 6 hours


 “John told Mary to ask James to have eaten the bread before six o’clock.”

30) 
Tha Iain ‘g a ithe.
be John prog poss.3sm eat.vn

 “John is eating it.”

31) 
Tha Iain air a ithe.
be John perf poss.3sm eat.vn

“John has eaten it.”

Note: “a” is optional because of vowel (tha Iain air ithe)

31a)
Tha Iain air a h-ithe

be John perf poss.3sf eat.vn

“John has eaten it-fem.”

